BRAEFCAHAHBRDALSTE
201242104 24R
H =& Z £ B R & ¥ FE EHEEL
64E=9RHHES H W (B LBEEBI15BER) BEH-A0
542 *ﬁf Bf%%gﬁﬁ F&ELERTM E =]
10278 (+) AE=12:3082 FATE/INEE BEREH
3£ =7:30HMEE KELY—7 (KREHEG) TR/ =)
2-15E=12~15FKF H/MEE IhEER
64 =K (2 LFEE) REEIIIONES [y ]
10H28H (H) 5EE=11:45RFIEAS FHBASC TM (FHE /M) BO-TE
3-2E=12REM My EJFC TM ARSI, F/NEES) iV RN
10A31H(K) INRERS TN —§EE)
11H1H (K) 6-5%E=18:00~20: 00 K&/ NMEE B | EFIED
65 =H SHRRBE) — 7 GRAG) [ Z3ETD
11H3H (j:) 1£|5=3/f?]“/7<°77‘y7’%i%(f£FﬁG) /J‘#(ii)’
SE=51F XNy T FE(ZHBUNER) B )
18:30~VEEE S - FAKEN| NF-FIMB
2UHE=FAF >V X H 7 Fi& (K NERK) TN EAD
11848 (A) VE=FAF Y X7 T8 (BB NFE) BRI
SE=RITH/E HINAR—V)ESR sl
18:30~ 3k EH E BHmG | 1B
11H8H(K) 6-5%E=18:00~20: 000 K/ MEAE | B
2EE=FAF AT 7 TR (KEH/INFR) hEER
115108 (1) 6-5-3- 14 =15 K/ Mg
VE=REWY—7 (F) _
1E=5(F > X Hy 7% (FHR/NER) NFERE
114118 (H) AR FE=AT7 TR/ HINAR=YLE 1Ly FH - A
6-5E=FRY v —BREERRBERT T (ER) B IE D
11A15H (K) 6-5%£=18:00~20: 0008 A/ NEEHH | BeH: - TTE
SE=5F)—TXFERE (T KEHG) BF-An
118178 (1) 3 AE=BESAF VX (FE) B - A
iijfﬁng%ﬁ R/ RS
6.5.4.3.2.1 = viAS
117180 (A) DB — B (13~1 61%)
11A22H(K) 6-5%£=18:00~20: 0008 A/ NEEHH | B -1TE
FAZ X T R
114230 ($1) DER S (FHA)
6;-4};3-2%?5££kﬁ/1‘ﬁ’£
6=
118248 (1) SE=REWL)—7 (F7)
114258 (B) 6:5-4:3-2- LE=THR/MRH
11A29H(K) 6-5%=18:00~20: 000 X/ NMEERE | BEH-TTE
12A1H (1) 18:30~VHEEE S -ZAELFH| -1
18:30~ 3R EH B FHHT S
12A2H (El) 6$=ﬁﬁﬁ§k‘% ﬁ#lib)
12H7H (ﬁ) 6$=ﬁﬁﬁﬁ5 ﬁ#lib)
64 = FURE
12A8H (1) 54 =K FE1F
AE=RFE LY —F (FE)
64 =JRIURME
12H9E (R) 54 =X TR1E
128158 (1)
12A16H(H)
12/ 220 (+) 6E=RBIBUA L —hyT FRENFER BEHIED
6(5)E=RURIBIA L F—TyT TAR/NER BEHIED
124 23H(H) 6EFE=HRA
SE=RFE I (FE)
124248 (k)
LASA (+) 6 =RRV2=7 Vi —BFE (BN EDLS) [CETET
AE =PRI = =7 Y —BFHE (SN ESLE) B IE A
1560 (B) 6EE=MEV2=7 b —BFHE (BN ERLS) BEFIED
VE=Y2=T Yo i —BTH GENESLE) BRI A
6$=g%31‘/§—7z;ﬁ‘4ﬂ/l/
5= VE—T AT A3V
1A12E8 (+) 45'5:3&””_“%%
18:30~MEXB L -ZAKEMN| Ih-A)
GEE=BBT A F—T =R F 4 )V
1A13E (R) SE=BBIA L F—T = AT 47
1H14H (m) 6$=$¥§Eﬁ:k% (%G)
1A19H (1)
1A20HE (B)
64 =FEiaRE (FVEG)
1A26H (1) 35'3:355””_;(%@
1A27H(R)

X R, K-/KEH %, Pm3:30~5:00=%&H BO &G, A& AL, BB EPm6:00~8:00




